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Varying management within fields
Challenging!
Two Issues:

Too much thinking without doing

Too much doing without thinking



Formulate clear goals

l

Gather information

!

Make predictions

l

Implement best option

l

Monitor progress




Uniform ®Variable
Increase net return per acre by at least  $

Other goals

- Synergistic: uniform harvest, land quality, fun
- Conflicting: time, other opportunities



Why do crop responses to management
vary within a field?

By how much?

Where?
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McKenzie et al., 2008 to 2010
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Maximum yield benefit (bu/ac)
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Field Benefit

(bu/ac)
Durum 19+4
Mustard 17x4
Malt barley 298
Wheat
- Saline/knoll 4+3

- Rest of field 17 £5
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Depression
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What-If scenarios

For example

- Average manure benefit of 30 bu/ac for 5 years
- 10 percent of field

- Manure cost $60/ac

- Meet objectives?
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Maximize expected net return
Logistics...
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Computer optimization of two blends
31-13-0-10
12-5-38-4



Keep 1t simple
Repeat until
confident



Formulate clear goals

l

Gather information

l

Make predictions

l

Implement best option

l

Monitor progress

Allwvays
mullteple

Allwvays
Encompl
ete

Newver
certain

Not easy

Too
busy



Questions?
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